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=L D84 SAANSE UHALZ £ 30682 E#2XNE =HolU2H, g 24 Yoz 3
2 =22 EdideiE ol DY(data coding)? GIOIE 32l (data cleaning)tEE HAH,
SPSS(Statistical Package for Social Science) v. 12.0 EXHINIIX T2 WS 25t 246}
L},
4, 2D ¥ =29
1) A R28=Q0I
Ha 3=
ALAL & 2t29 2 E 3.62 576
SIAFE 2 2ted 3.33 693
PIE=EN2 2.95 754
&7 ¢ Xo|gH 3.22 623
=529 2 3.47 551
M3 2.79 919
29X U HP=e 2.40 685
A2t 3.37 702
2) dsXEYy 23X
vls HAE SaBAdE
CEETE) 187 1.1 61.1
HEs() 119 38.9 38.9
X 2S(N) 141 46.1 46.1
223 (S) 165 53.9 53.9
LHE(F) 238 77.8 77.8
AL E(T) 68 22.2 22.2
EHEHE (J) 254 83.0 83.0
OLAI S (P) 52 17.0 17.0
B2 306 100.0 100.0
3) ASAEY XR0OEE AEY
(1) 2&td - LHEH0 U2 XNLoHS A
PENEE
2|88 (E) LHEF&(1) t p
M SD M SD
N EEEE 3.70 577 3.51 554 8.145%% .005
ENEENEEE] 3.39 768 3.27 .689 1.966 162
ERES 2.95 806 2.88 755 568 452
S Y KOgH 3.26 662 3.13 671 2787 .096
E2219] Y 3.53 .563 3.38 520 5.650% 018
SME] 2.78 982 2.81 923 072 .789
EEERIFIEEE 2.44 688 2.37 728 690 407
A 3.41 780 3.23 737 4.045% .045
* p<.05, ** p<.01
(2) 2128 - XS 2 NR0H=AEY
SsA8Y
228(S) = 28 (N) t p
M SD M SD
RS 3.59 566 3.66 .584 .902 .343
ENEERNER 3.31 754 3.39 723 .850 357
FEESES 2.90 793 2.95 779 257 600
BN I IET 3.16 621 3.27 716 2.113 147
EEREIEE] 3.45 550 3.49 .553 378 539
SMET| 2.83 973 2.75 942 471 493
22X U qR=g 2.39 704 2.44 704 346 557
o2 3.28 746 3.45 765 3,858+ .049
* p<.05

_30_



<
Kir

ol

oF

Kr
!

10
K0
n0

B0

~l—lolwit|o|olo

a |gla=[Na|d|d|—

QleIN|ae(n v

* *

|| MDD~

— —i<r|o|olRiRIo|o

NIN|— Q| MR

7o) o)

t~|—loo|oo|oo|cu| |~

Dlo|v|—= K[|~

D00 OO0 NN
N
0
&0
~0

olwv|o|—|—|—=|co|m

SNV |00 <

mlola|m|o|al|al|em
il
I+
=3
104
X

o|afo|nvlo|cn|alo

Olo|o|o|d|o|—|m|x

N NI~ QOO O
E
B0
r
=z

o|o|ol—|s|m|wo|o

S|[OS —

o|m|am|o|al|al|em

0

iyl K4 Ok

ol Al |oi|=| 131

[ SR

=1 =] ol

_.Lﬂ_.xr_..A |

=l | K = | OT | R

14 e -

SHIRO 1 oK (2 o <1 0

..rAAaaﬂ._au_moa_._H

20707 | o0 <10 | LHO [ ok | 1. { oW

* p<.05

MDD|O ||~ —[©O|O

a G| oD |~~~y

DR RN NSO

Tel o ¥

- lalgielllylgleld

el S = e

— — s

@ |~—{<t|mim|~|o|wo

Olo|~|—|v|olo|[DiN

VOV @M
o
80
<
o)

wlajan|ola|s ||

S|Q(R@|N? |0 I©[mn

o|m|a|m|m|al|aljm
B
(=5
=
104
x

WIND|— | — O] —

Oloi—via|S | v[S|m

St D R A LTI Il L
>
B0
Ul
=Y

—|wn|o|oloja]a|om

R R A AT A

o|o|a|m|m|ajal|m

00

ur IF

Mo & aF

of|f| |DNiz=| |&D

Hesl ] (s

ﬂ_ﬂﬁ =<

k|0 KH m_x@ =46y .

<k J‘_EﬁXAP_“_

<|=|No|RI{ N4 |Z0(0F =

0 {7l | o0 [<10| U0 [dok| 11 o

* p<.05

2E

5.

r
I

i

JJ
=3

ol
00
30

i

Kr
ol

oF

KM

0
Ok
Rr
X0

ol
ujny

JISMHIAY SALX

AU M=

=
[

(N)ol

80

O = LHERLH, H2

ok

o

ol
LY

K

o

cE U)ol bl

B

eIAIE(P)O

SOt A0 UEtsE D,

ol

W s&2t2 2,

3

(Mol di

AMAEZ 0IMHIAY

o 4HRE0 X0IH0 UASS LEIUHALCH

o SEOIJI0 oKX

Ui
e
ki
J
o

<
Kio

J
1<}

S
ur
{ID

o
(thu

e

Kio

= A= MADH DIRAEUH

1&g

A

o
10
OF
ar
X0

3
Tl

ol
X
o%

[
RO

e

i

ol

o

kio

Ju
o

<+
il
ol
<)

Kir

ol
=X
N

_31_



